& 1-1+3 EE,%& izi
B | B8 - WE+Ans | %
—. BE—#EEE (BE 5 )
1-(A) %r Fix=3- [l f(x)=6 ; RS - F f(x)=8 > SlfFEHEEE 2 (A

x 320 (B) x#6 (C) x=4 (D) x=#8 (E) I “HFL’JE
f37 o x=3= f(x)=6 ti%
Sox=3F 2 f(x) =6 %

FF’YX—S;tO
2~(B) %;EKFIA%J&%@ & f B A PN I SR 0 0 E L R ?
A—B A——B A—-B A—»B

'ﬂ

FEH] (A X0 © = 33 e B
(B) (O)
) X 1) filllra W b= S
D) (X)) * 277 Wb W c =l i -
R E) -
3-(B )wﬁﬂwﬁhy’ fﬁ?{ﬂyﬁ@xpg%}gml%?

A —t5—% B —5

T

= (C)

: <A>(cg(D) O

IPXEJI};‘I PEp2 Wy fifrse St P F4(B) -
4~ (8P) pABCH1 > BC=a,CA=b,AB=c » M i 2 (HEE
(A) ¥\ AABCEL I #1= #7% » [l[la® =b” +¢”
(B) * AABCHLI-= ¥ » HIAABCELE = &Y
(C) ¥, AABCELET = #7% » fl[la=b
(D) AABCHI > a? >b* +c? £ LZA>90° AUk B
(E) fja=b=c > flJ£ZA=24B=2«C
:(A) (XD # T AABC ELjf 1= &7 » fllla® =b* +c* ¥y b® =a’ +c* Ry ¢® =a” +b” o
(B) (O) & I-= PSR = 27

£1H



(©) (X) % AABC EET= €% » fla=bisb=cpva=c -
(D) (O) :a*>b*+c*> < LA>90° o
(E) (O) ia=b=CCnSABCﬁMFE5?%C>4A=LB=LC=6Wo
FTYF‘;T "E3(B)(D)(E) -
—. ERE (BE 10 5)

- {4 1 1 1 ) sz p 7, — N " )
8~ (1)x,y FLI r§+§:§ SRR T x=4y=4 jpu_ fRFF(ROT SR AR
@x y EdEr Ty> x| 8Ty > Y [EF(ROT ~ MR R

(3)AABC 1D 7 AB F-E 7 AC > DE//BC ,#3" AD:AB=DE:BC ¥
[EFF (5T~ Mt ) o

D (1) %FI(2)F 55 (3)F 53

1 1 1 1 1 1
347 () “RIEF » v =+=== s [(l=+=== -
R R Al R e Rl
(2)F o3 f% % A
y> o Ix] >0, cuyis |xPL o coyE s X [HE (-B) > (-3)7 o e
p— —_— o E
H9)< 1-3] A
."DE//BC = AADE~AABC= AD:AB=DE:BC - [[IF| B
DF //BC =' DE = DF - 5§ AD: AB = DF :BC = DE:BC * [/ DE %
BC 7 i o
\ x+1
9- F%f(x)ﬁ{]ﬁif(ﬁ):x I =_____ -
X+1
‘:“_’—%T :
X
X+1 X+1 t+1
3 f(—)=x fjt=—"=>X=—+
Ll e U | -1
t+1 X+1
f)=—=rF(X)=—=
0= 9=
10 ~ e 00 AT 2 A7) 10 TV B 1 x SR
(1) (%) I ffidss £% °(2) f(2004)=___ -

& & ({2468 (26
3470 () Q) =21(2)=4,1(3)=8,f(4)=6,f(5)=2f(6) =4 - -
2° [RI') 10 TP LV BREAT-1T 2,4,8,6 fUTEERL - 5 f () 1 iiEI{2, 4, 8, 6} -
(2)"."2004+-4=501---0 > .". f(2004) =6 -
11~ FxeR > F X3 <A LX<k o= EIfEiF » FI k o il 5 .
FEI01

7

[i344] : [x-3<4=-1<x<7

X <k=-k<x<k

£2H



L |x=3 s 488X <k po R
x| <k =|x-3 <4

. _k2_1:k<1 K g ff 4 1
.. K<7 < .. F |"RI 5

12~ 3 £ () kL F(x+3) =2x+1 » [ f(x) =

[§ %]: 2x-5
249 : 'AJ y:x+3:>x:y—3 »HIEf(x+3)=f(y)=2(y-3)+1=2y-5 ’Fr,’Sff(x):Zx—S °

13 ~ RNl R Y S
X—3 ,
1)y =S IR
Y=g~ = H—
(2)y = |¥ -1 &I
@)y = o

P)x#2 Zx£-1 0 (xz1Eix<l (3)xeR

PQ)x#2 2 x#-1

(2)[¥-120. X 21 .x 215 x<-1

B)xeR, . X’ +2x+3=(x+1)*+2>0
14 ~ =URIGIE T 2x+3y =7 > [lI3x—y =5 | RLEARY  SREEER(x,y) = °
(£ %]: @1

fR17] 0 ) 2x+3y =7 > [I[3x—y = 59 RELRLSRY

. |2x+3y=7 X=2
T3 = 2 (y)=(21) -
X—y=5 y=1

15+ S o AP AT BRI BT 100 7 o 4 R
T RERE T I'F?’E"xw’%myﬂ sy VIS y R O 2

ty = 0.8x+100 :%x+100 Y kL X [OpHEY
100 [ SEELT00 =+ 5), F(—) == (x) > =1 f(3)=2 5 [

f(-27)=__  ,f(-28)=
12,2
34| : f(27)= f(22) == f(-2)=f(3)=2
f(—28) = f(=23) == f(<3) =—f (3) = —2

17 ~ (Va,b E4E8r > T a®+b* =2ab | PR EIfE[FE
(2)a,b £ELEEr > T a®-2ab+2b® =0, AUk BIfEFES
% %|: (Da=b  (2a=b=0
f247]: (2) a®—2ab+2b°=0 ..(a-bh)*+b*=0 ..a=b ' b=0 ..a=b=0

£3H



20 S e

-1 .

O O :
x> —2x-3 e
y= f(X):T LAY

F(W{Xx<2,xeR}  (Q{x|x=-1LxeR}
P(1)2-x>0=>x<2 o R {x|x <2, xeR}
(Qx+120=> x=-1> - LR EL{X|x = -1, xR} -

£ 4H



